	[image: image7.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2008
Class – X

Subject - Mathematics

Marks: 80



    

     


            Time: 3 Hrs

General Instructions:

1. All questions are compulsory.

2. Question paper contains 25 questions divided into there sections. Section A, B and C. Section A contains 7 questions of 2 marks, Section B is 12 questions of 3 marks and Section C contains 6 questions of 5 marks each.

3. There is no over all choice. But two internal choices have been provided in each section, which are section A, B, C.

4. Use of calculator is not permissible.
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                           (Q. No. 1 to 7 carry 2 marks each)


(14)

Q. 1
Rationalize the dinominator.
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Q. 2
Express in the form of 
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, where p and q are integers and q ( 0.




0.047




   Or


Simplify:
271/5 ( 91/5
Q. 3
(ABC is an isosceles triangle in which AC and AB equal sides. Altitudes BE and CF are drown to these equal sides shows that there altitudes are equal.                    





    A     





     F  
    E


                    B



      C

Q. 4
Find the reminder when



x4 + x3 – 2x2 + x + 1 is divided by x - 1

Q. 5
In which quadrant or on which axis do each of the points lie.


(-5, 6), (7, -8), (0, 5), (-4, 0), (5, 7), (-3, -4), (0, -7), (9, -1)

Q. 6
Find two different solutions of the equation.






x + 2y = 6






Q. 7
Find the total surface area of a hemisphere of radius 10 cm.

OR

Find the total surface area of a cone, if its slant height is 21 m and diameter of its base in 24 m.

Section - B

                        (Q. No. 8 to 19 carry 3 marks each.)                   (36)




Q. 8
AD is an altitude of an isosceles triangle ABC in which AB = AC. Show that (i) AD bisects BC    (ii) AD bisects   A                                                          

Q. 9
In the fig. AC = AE, AB = AD and  BAD =  EAC. Show that BC = DE
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Q. 10 Draw the graph of the equation.      x – y = 2.

Q. 11 Locate the points (5, 0), (0, 5), (2, 5), (5, 2), (-3, 5), (-3, -5), (5, -3) 

       and (6, 1) (0, -5), (2, -5), (-5, -2), (3, -5),  in the Cartisian Plane.

Q. 12 Find the area of a triangle, two sides of which are 8 cm and 11 cm   

         and the perimeter in 32 cm.

OR

The sides of a triangular plot are in the ratio 3: 5: 7 and its perimeter is 300 m, find its area.

Q. 13 It is required to make a closed cylindrical tank of height 1m and 

       base diameter 140cm from a metal sheet. How many square meters 

       of the sheet are required for the same?

                                                OR

       If the lateral surface area of a cylinder in 94.2 cm2 and its height is 

         5cm. Then find its radius of base.

Q. 14 Find the median of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18.

Q. 15 ΔABC is an isosceles triangle in which AB = AC. Side BA is 

         produced to D such that AD = AB. Show that  BCD is a right angle



                                D





  A



B

                       C

Q. 16  A die is thrown 1000 times with the frequencies for the outcomes 1, 2, 
          3, 4, 5 and 6 as given in the following table.

	Outcome
	1
	2
	3
	4
	5
	6

	Frequency
	179
	150
	157
	149
	175
	190



Find the probability of getting 2, 5, 6.

Q. 17 A joker’s cap is in the form of a right circular cone of base radius 

       7cm and height 24cm.Find the area of the sheet required to make 

       10 such caps. 

Q. 18 ABC is a triangle in which altidude BE and CF to sides AC and AB 

         are  equal. Show that

          (i) ΔABC = ΔACF     (ii) AB = AC, i.e ABC is an an isosceles    

             triangle.        
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Q. 19   Write the answer of each of the following.

1. What is the name of horizontal and vertical lines drawn to determine the position of any point in the Cartesian plane?

2. What is the name of each part of the plane formed by these two lines?

3. Write the name of the point where these two lines intersect.

                                              Section - C


                    (Q. No. 20 to 25 carry 5 marks each.)                 (30)         







Q. 20 Verify.



x3 – y3 = (x – y) (x2 + xy + y2)

Q. 21   In right triangle ABC, right angle at C, M is the mid point of     

            hypotenuse AB. C is joined to M and produced to a point D such 

            that 

          DM = CM. point D is joined to point B. Show that

          (i) ∆ AMC = ∆ BMD (ii)    DBC is a right angle (iii) ∆ DBC = ∆ ACB

           (iv) CM = AB
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  Q. 22 A triangle and a parallelogram have the same base and the same 

          area.If the sides of the triangle are 26 cm, 28 cm, and 30 cm, and 

           the parallelogram stands on the base 20 cm, find the height of 

          the parallelogram.

OR

   A field is in the shape of a trapezium whose parallel sides are

25m and 10 m. The non-parallel sides are 14 m and 13 m. 

Find the area of the field.

Q. 23 Find the mean salary of 60 workers of a factory from the following 

         table.

	Salary (in Rs.)
	No. of workers

	3000
	16

	4000
	12

	5000
	10

	6000
	8

	7000
	6

	8000
	4

	9000
	3

	10000
	1

	Total
	60


Q. 24  ∆ ABC and ∆ DBC are two isosceles triangles on the same base    

         BC and vertices A and D are on the same side of BC. If AD is 

         extended to intersect BC at P, show that 

          (i) ∆ ABD = ∆ ACD(ii) ∆ ABP = ∆ ACP (iii) AP  bisects A as well as D        

          (iv) AP is the perpendicular bisector  of BC
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Q. 25 The inner diameter of a circular well is 3.5 m. It is 10 m. Find

        (i)   its inner curved surface area,

(ii) the cost of plastering this curved surface at the rate of Rs 40 

        per m2 

OR


 A park, in the shape of a quadrilateral ABCD, has (C = 900,

        AB = 9m, BC = 12m, CD = 5m and AD = 8m. How much area does 

         it occupy?
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